Sl g AR U R S P

THE mope ol AYUR

rr




2. @ Yo7}t 50.24 cm? 0], 3017} 18em 91 Y717 <] HulE 5}
AL

Qe e



3.  2yol7t 78 5ecm2 o)1, F1]7} 1020.5cm3 ¢l Y759 =o|S 1o}
AlQ.

Ct-
Qe e



Zofsts 4=
0 10 20 30 40 50 60 70 80 90 100(%)
e L b b by by b Py by
A% | x5 | 3o [mey
|
71}
D AL @ =8



5. 17091 1500 A A x 7 A o, A= sfoF she 5 dE y dol=t
Fuch ol W, x, y Aol gAML y = |xxgurh [ |

Qfofl Lek2 5 2AL,

Yk
=%



Yrh. o} 7o jet

@ do= 1714 Folyuint.

@ 9z 17, 912 1714 Solvict,

® o=z 17, 9= 114 Soldyr,



15

® 15 B 45 @ 50 B 65

@D 5



® 8

@ 24:21

B 7:9

: 8

ONy

@ 8



o] o] wrut uro] Zo]o] v 7 54Utk o] Y] uro] Zo
2 AU
@ 8AIZH @ 1047t ® 11A1%t

@ 14 A|7F 3 15A]

=~

rr



1
0. o= < 97







12. ©he FA y 7h o Aujelshs A2 m2A0.

® xxy=5

@ y=4-x

@ y=x=+2

®y=2xx+3



13
. y=
xof ¥
Jhe] | o}
al
X =
=6 o]
A of
, Y =

%}\-_Q
FotA 2

1
Rk} o)
.x=9
ol
=2 ,y94

@)
9
@ 3
©)

o
| —
o
o






15. g 97159 AAEA Eol7t 20m D ©, AAAG o] ol
olop o] Zolo] §e A2,

O




16. o3 9715 skd® ko g 1ue FRS U ¥7]5e] 22 1t
ol % om? A F5HA L,

_-12cm- _

6cm



R

17. o

cm
4 cm

A.A.l

lcm

6cm

2cm



18. T =9 A4S o2 shel 1544 dojAe PAEE )
Aylols T,

6 cm’



71}

AL
=

3} ol
o

KX
=

19. o

U7k

g

7H



20. o FolA HEEstE e e L.

SHES 11,2 12km 2 7He AFEAI} S L2 2 4 g
2] ykm
o] 2] 52] o] xem ¢ Ao] E] o] yem

170) 500 Y5t= @Al ] x|}t 1 gk y
337 9] SFFel A HE S x B} olst AL y

HO|7F 40 cm? Q1 AALA G| A 712 2] o] xem & A2 9]
o] yem

@

@ ® ©@ ©



